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1
Which result is correct? Cross out the wrong numbers.

26—19 @@l@ b) 37 + (—11) = | 48][.26]| 26 | 48]
01 (o LA 3] )29 (—1) —[30] 28] 28] 30]
) 2 18 = !26\! 16672607 £) 13 4 (—27) = [40][-14 [ 14]] 467]

A (— OABE w21+ (-20) = AT ]
i) 39 — 36 = @JE j) 4+ (—19) = [23][-15][15][25]
2)

Which result is correct? Cross out the wrong numbers.

a) 177 4 ( 144 = |-321]|-33][33 ] 321]

b) 403 + ( = |-420]|-386| 386 420]

¢) 341 + (— 238 — 2579|263 ][ 103 | [579]

d) 216 + (— 275 — 49759 59][497]

e) 340 — (- 481) |-82T]| 14T 1477|821

£) 286 + (— 439) =725 -153][153] 725] g) 179 — 222 = |-467T][-43 [ 437| 407]

h) 343 — (—48) = |397][-295]2051[391] i) 121 — (—31) = |-452]|,90 | 96| 152
j) 25+ ( 424 = | 4491|399 399]| 449]
3)

Which result is correct? Cross out the wrong numbers.

2) 92— 16 — I0S|76[70)108]  b) 72+ ( uemwfusg [65]
o2t ot =Ll 0 13- (%) - oA
) 49 — (-3) = [ AS46]52] )37+ <—1z> — [49]25] 25 4]

4)

Which result is correct? Cross out the wrong numbers.

a) 34 — 16 = | 50| 18] 18 || 50] b) (—23) + (—25) = [-48][7][2][48]
C) 29 — (—32) = [61] 3] 3][61] d) 33 — 8—!/4”/25\!25\%
o) 18—(— ) =[30]6]g1[30] ) (—24) — (—19) = [43][5]|5][45]
) 19+ (— —!/QTH/WHW\W h) (— 32) 16 = | A48][-16] 167 4]
i) 6—18—!/24\! 12]17] 24] D17+ (— —!/2?\!%”12\%
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Good Luck!
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